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Identify the property by which the two given triangles are similar
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(i) AAA Similarity (ii) SSS Similarity (iii) not similar (iv) SAS Similarity
2. ldentify the property by which the two given triangles are similar
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In the given figure, ABCD and ASTU are such that
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Identify the property by which the two triangles are similar
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5.

7.
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In the given figure, AlJK and AUVW are such that
L)=/LNV and LK=/1LW.
Identify the property by which the two triangles are similar
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(i) notsimilar (ii) SSS Similarity (iii)) AAA Similarity (iv) SAS Similarity

In the given figure, AGHI and AQRS are such that

GH HI IG

QR RS SQ

Identify the property by which the two triangles are similar
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(i) not similar (ii) SAS Similarity (iii) SSS Similarity (iv) AAA Similarity

In the given figure, AABC is isosceles right-angled at B and BD L CA. £C =
A

B C

(i) £F (ii) 4B (iii) 4D (iv) £ZA (v) LE

In the given figure, ACDE is isosceles right-angled at D and DF L EC. ZCDE =
C

D E

(i) £DEF (ii) 4EFD (iii) 4FCD (iv) 4CDF (v) Z4FDE



In the given figure, three lines |, m and n are such that | | m || n.
9. Two transversals PQ and RS intersect them at the points A, B, Cand D, E, F respectively.
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(i) AACF (ii) ADAE (iii)) AABH (iv) AFEH (v) ADCF

In the given figure, three lines |, m and n are such that | || m || n.
10. Two transversals PQ and RS intersect them at the points A, B, Cand D, E, F respectively.
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(i) £LFDA (ii) £FAC (iii)) £HAB (iv) 4ZFEH (v) ZHFE

In the given figure, three lines |, m and n are such that | || m || n.

11. Two transversals PQ and RS intersect them at the points A, B, Cand D, E, F respectively.
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(i) £LACF (ii) £4DAF (iii)) £ABH (iv) 4ZFDA (v) ZEHF




In the given figure, three lines |, m and n are such that | | m || n.
12. Two transversals PQ and RS intersect them at the points A, B, Cand D, E, F respectively.
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(i) £LHFE (ii) £ZAFD (iii)) £BHA (iv) ZEHF (v) ZCFA

In the given figure, HIJK is a trapezium in which

HI || JKand the diagonalslKandHJintersect atL.

If LH=(5x+10)cm,IL=(6x+12)cm,Jj=(2x+1)cm and
KL=(2x+10) cm, find the value of x

13.

(i) (22,-3) (i) (22,-2) (iii) (25,-2) (iv) (23,-1) (v) (0,24)

In the given figure, NOPQ is a trapezium in which
" NO | PQand the diagonalsOQandNPintersect atR.ARNO ~

(i) AROP (ii) AQNO (iii) AOPQ (iv) ARPQ (v) ARQN

15. In the given figure, the altitudes PD and EQ of ACDE meet at O. AOQP ~
Cc

D E

(i) AODE (ii) AQDO (iii) AQDE (iv) APEO (v) APED



16. In the given figure, the altitudes OH and IP of AGHI meet at N. ZNIO =
G

H I

(i) £LHNP (ii) £ZPHN (iii)) £ZONI (iv) 4ZNPH (v) ZION

17. In the given figure, RS || BC, and median AD bisects RS. AABD ~
A

B D C

(i) AAES (ii) AARE (iii) AADC (iv) AABC (v) ABCA

In the given figure, ALMN is a triangle in which LO is the internal bisector of ZL and NP | OL meeting ML
" produced at P. ZLNP =

M O N

(i) £ONL (ii) £ZLON (iii) £ZPLN (iv) 4ZMOL (v) £0OLM

19. Which of the following are true?

a) Any two squares are congruent.
b) Any two circles are congruent.
c) Any two circles are similar.

d) Any two squares are similar.

e) Any two triangles are congruent.
f) Any two triangles are similar.

(i) {efc} (i) {cd} (i) {adc} (iv) {ac} (v) {bd}



20.

21.

22.

23.

24.

Which of the following are true?

a) Similar and congruent are not synonymous.
b) Similar figures have same area.

)
)
c) If two figures are similar, then they are congruent too.
d) Congruent figures have same area.

)

e) If two figures are congruent, then they are similar too.

(i) {b,ce} (i) {b,a,d} (i) {c,d} (iv) {b,a} (v) {a.d,e}

Which of the following are necessary conditions for similarity of two polygons ?

a) The corresponding angles are proportional.
b
C

The corresponding sides are proportional.
The corresponding angles are equal.

)
)
)
d) The corresponding sides are equal.

(i) {a,b} (i) {b,c} (i) {a,c,b} (iv) {d,c} (v) {a,db}

Which of the following are true?

a
b
d
d

Similarity is reflexive.
Similarity is transitive.
Similarity is anti symmetric.

Similarity is symmetric.

(i) {c,a} (ii) {a,b,d} (iii) {c,b} (iv) {c,a,b} (v) {c,d}

Which of the following are true?

a) Any two quadrilaterals are similar if the corresponding angles are equal.
b
C

Any two triangles are similar if the corresponding angles are equal.
Any two triangles are similar if the corresponding sides are proportional.

)
)
)
d) Any two quadrilaterals are similar if the corresponding sides are proportional.

(i) {a,b} (i) {a,c} (i) {a,d} (iv) {b,c,d} (v) {a,b,c}

In the given figure, the area of the ALMN is x sq.cm. O,P,Q are the mid-points of the sides MN , NL and LM
respectively. The area of the AOPQ is
L
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3 2 1
(i) of area of ALMN (ii) 4 of area of ALMN (iii) 3 of area of ALMN (iv) 3 of area of ALMN

(v) -

1
4
1
3 of area of ALMN



In the given figure, the parallelogram ABCD and the triangle AEAB are on the same bases and between the same
25. parallels.
The area of the AEABIs x sq.cm. The area of the parallelogram is

D E C

3 4
(i) 3 the area of the triangle (ii) 3 the area of the triangle (iii) twicethe area of the triangle

5
(iv) thricethe area of the triangle (v) 2 the area of the triangle

If the ratio of the bases of two triangles is E : F and the ratio of the corresponding heights is G : H , the ratio of
" their areas in the same order is

(i) EF:GH (ii) GH:EF (iii) EH:FG (iv) FG:EH (v) EG:FH

In the given two similar triangles, if c =18 cm,d =15cm, e =18 cm, g =9 cm, find h

A A

h
(i) 11.80cm (ii) 9.80 cm (iii) 12.80cm (iv) 8.80cm (v) 10.80 cm

28. In the given figure, given £ZKHI = ZJHK, x :y =7.5cm :7.5cm and p =20 cm, find g =
H

-
-

K J

(i) 19.00 cm (ii) 20.00 cm (iii) 22.00cm (iv) 21.00cm (v) 18.00 cm

29. In the given figure, given LGDE = LFDG, p = 9.19cm, g = 9.81 cm and EF = 19 cm, find GF =
D

E G

-

(i) 7.81cm (ii) 9.81 cm (iii) 11.81 cm (iv) 10.81cm (v) 8.81cm



30. In the given figure, IJKL is a trapezium where O) = 13 cm , OK =4 cm and OL = 4 cm

L K

| J
(i) 12cm (ii) 13 cm (iii) 14 cm (iv) 15cm (v) 11 cm

31. In the given figure, LFGI = 36.87°, find the value of x =
F

xD

G H

(i) 53.13° (ii) 52.13° (iii) 55.13° (iv) 54.13° (v) 51.13°

32. In the given figure, £LDBC = 46.75°, find the value of y =
A

B C

(i) 44.25° (ii) 41.25° (iii) 43.25° (iv) 42.25° (v) 45.25°

33. In the given figure, if HI || JK then
H |

J K

. Find Ol =

(i) AHIL ~ ALK (i) AHIL ~ ALK (iii) ALIH ~ ALK) (iv) AHIL ~ AKIL (v) ALHI ~ ALK



34. In the given figure, AGHI is right-angled at H. Also, HJ L GI. Which of the following are true?

a) HI’=Gl.gJ
b) GHZ=GI.GJ
o) H2=a).Jl
d) HIZ=1G.1)
e) GH’=1G. 1]
G
]
H |

(i) {e,c} (i) {a,ed} (iii) {a,b} (iv) {a,b,c} (v) {b,c,d}

35. In the given figure, AlJK is right-angled at J. Also, JL L IK. If 1) =19 cm, JK =17 cm, then find JL.
|

] K

(i) 13.67 cm (ii) 10.67 cm (iii) 11.67 cm (iv) 12.67 cm (v) 14.67 cm

36. In the given figure, AHIJ is right-angled at I. Also, IK L H). If K] = 9.6 cm, IK =11.51 cm, then find HK.
H

| J
(i) 12.80cm (ii) 13.80cm (iii) 14.80cm (iv) 11.80cm (v) 15.80 cm



In the given figure, ACDE ~ AQRS and CD = 15 cm, QR =21 cm.
" If the area of the ACDE =76.75 sqg.cm, find the area of the AQRS

Q

D E R 5

(i) 150.44 sq.cm (ii) 152.44 sq.cm (iii) 148.44 sq.cm (iv) 151.44 sq.cm (v) 149.44 sq.cm

In the given figure, ABCD ~ AQRS and CD =10 cm, RS = 14 cm and

38.
BE=9.8 cm, find the area of the AQRS
Q
B |
&
C E D R T 5

(i) 97.02 sq.cm (ii) 98.02 sq.cm (iii) 96.02 sgq.cm (iv) 95.02 sg.cm (v) 94.02 sq.cm

In the given figure, ACDE & AOPQ are similar triangles. If the ratio of the heights CF : OR = 10 : 15, then the ratio
" of their areas is

0
¢ i
i -

D F E P R Q

(i) 100sg.cm:225sg.cm (ii) 99sg.cm:225sqg.cm (iii) 101sg.cm:225sg.cm (iv) 100sg.cm:228sg.cm

(v) 100sg.cm:223sg.cm



40 In the given figure, points F, G and H are the mid-points of sides DE, EC and CD of ACDE. Which of the following
" are true?

a) Area of trapezium DEGH is thrice the area of ACHG
) Area of trapeziumDEGH is ‘11 the area of ACDE

c) Area of ACDE = 4 times area of AFGH
) Area of ACDE = ; area of AFGH

e) All four small triangles have equal areas

C

D E

(i) {d,c} (i) {b,a} (iii) {b,d,e} (iv) {a,c,e} (v) {b,a,c}

a1 In the given figure, points L, M and N are the mid-points of sides JK, Kl and IJ of AlJK. Which of the following are
" true?

a) ALNM ~ AlK
b) AINM ~ AlJK
) ANJL ~ AlJK
)
)

0

d) ALMN ~ AlK
e) AMLK ~ AlJK

] K

(i) {a,e,b} (i) {a,b} (iii) {a,c} (iv) {b,cd,e} (v) {ad}

The perimeters of two similar triangles are 27 cm and 21 cm respectively. If one side of the first triangle is 9 cm,
" find the length of the corresponding side of the second triangle.

(i) 8.00cm (ii) 5.00 cm (iii) 6.00cm (iv) 9.00cm (v) 7.00 cm



43. In the given figure, F is a point on side DE of ACDE such that ZECD = £LCFE = 106°, LFEC = 24°. Find LECF
c

106°

24%-
D F E

(i) 51° (ii) 49° (iii) 50° (iv) 52° (v) 48°

JKLM is a square and AJKN is an equilateral triangle. Also, AJLO is an equilateral triangle. If area of AJKN is 'a'
" sq.units, then the area of AJLO is
O

] K

1 1
(i) azsq.units (ii) 2\/3a5q.units (iii) 2a sqg.units (iv) 5 a sqg.units (v) v3 a sg.units

45. DEFG is a cyclic trapezium. Diagonals EG and DF intersect at H. If GD = 15 cm, find EF
G F

D E

(i) 15cm (ii) 17 cm (iii) 14 cm (iv) 13cm (v) 16 cm

A vertical stick 14 mlong casts a shadow of 16 mlong on the ground.
46. At the same time, a tower casts the shadow 128 mlong on the ground.
Find the height of the tower.
0

H ! P Q

(i) 114 m (i) 113 m (iii) 112 m (iv) 111 m (v) 110 m



47 In the given figure, ACED is right-angled at E, EF L CD.
" CD=c,ED=a,CE= b andEF= p. Which of the following are true?

a) a2+ b2=c2
b) ab=pc
1 1 1

c) + o=
a2 b2 p2
1 1 1 1

d 2+ 2= 2+ 2
a b C p

E D

(i) {a,b,c} (ii) {d,a} (i) {d,e,c} (iv) {d,a,b} (v) {eb}

48. In the given figure, LEBC = LDBE and BE | FD and BC = 17 cm, CE = 9 cm and ED = 9 cm. Find BF
F

C E D

(i) 18.00 cm (ii) 15.00 cm (iii) 16.00 cm (iv) 19.00cm (v) 17.00 cm



In the given figure, LN is the angular bisector of ZL& 4N
KL=20 cm,LM=20 cmandMN =24 cm.Find NK
N

49.

K L

(i) 22.00cm (ii) 26.00 cm (iii) 23.00cm (iv) 25.00cm (v) 24.00 cm

The ratio of the bases of two triangles ABC and DEF is3:10 .
If the triangles are equal in area, then the ratio of their heights is

50.

(i) 3:8 (ii) 2:10 (iii)) 4:10 (iv) 3:12 (v) 10:3

In the given figure, the two circles touch each other internally.
Diameter OB passes through the centre of the smaller circle.
OX =9 cm,OY = 20 cmand radius of the inner circle is5.5 cm.
Find the radius of the outer circle.

51.

Y

(i) 10.22 cm (ii) 14.22 cm (iii) 12.22cm (iv) 11.22cm (v) 13.22cm



Assignment Key

1) (iv) 2) (ii) 3) (ii) 4) (iii) 5) (iii) 6) (iii)
7) (iv) 8) (ii) 9) (iv) 10) (v) 11) (iv) 12) (iv)
13) (ii) 14) (iv) 15) (i) 16) (ii) 17) (ii) 18) (v)
19) (ii) 20) (v) 21) (ii) 22) (ii) 23) (iv) 24) (i)
25) (iii) 26) (v) 27) (v) 28) (ii) 29) (ii) 30) (ii)
31) (i) 32) (iii) 33) (iv) 34) (v) 35) (iv) 36) (ii)
37) (i) 38) (iii) 39) (i) 40) (iv) 41) (iv) 42) (v)
43) (iii) 44) (iii) 45) (i) 46) (iii) 47) (i) 48) (v)
49) (v) 50) (v) 51) (iii)
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